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Chapter 7 ALGd Practice Quiz #2 Date Period
ALG.d.1 Determine if a given ordered pair is a solution to a linear system of equations.
Tell whether the peint (-2,2) is a solution. Explain your decision.
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ALG.d.2 Solve a linear system of equations algebraically, using the substitution or elimination
method as indicated. DON'T FORGET TO CHECK!

Solve the system by substitution. Clearly show EACH STEP. Circle your answer.
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Solve the system by elimination. Clearly show EACH STEP. Circle your answer.
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ALG.d.3 Solve a linear system of equations algebraically, by determining an appropriate

method. Solve each system by substitution or elemination.

FORGET TO CHECK! Circle your anoswer

Clearly show EACH STEP. DON'T
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